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1. Introduction
In the RAN4#80bis meeting, the way forward on coexistence simulation assumptions [1] was agreed to calibrate simulation results among interested companies. In this contribution, we want to share the simulation results and initial observations for indoor hotpot scenario. 
2. Simulation case
During the RAN4#80bis meeting, we have already reached consensus on the deployment layout and antenna model for the indoor scenario . Therefore according to these assumptions and simulation cases defined in the following table, we got initial simulation results shown in Section 3. 
Table 2.1 Simulation case for indoor hotspot scenario

	No.
	Aggressor
	Victim
	Simulation frequency
	Direction
	Usage scenario
	Deployment Scenario

	1
	NR, 200MHz
	NR, 200MHz
	30 GHz
	DL to DL
	eMBB
	Indoor hotspot

	4
	NR, 200MHz
	NR, 200MHz
	30 GHz
	UL to UL
	eMBB
	Indoor hotspot

	7
	NR, 200MHz
	NR, 200MHz
	70 GHz
	DL to DL
	eMBB
	Indoor hotspot

	9
	NR, 200MHz
	NR, 200MHz
	70 GHz
	UL to UL
	eMBB
	Indoor hotspot


3. Simulation results 
Based on the simulation results shown section 3, we can find that different noise figure will not have big impact on the average throughput loss of victim system. For the 5% throughput loss, namely cell edge throughput loss, when operation frequency is 70GHz and 45GHz, there will be around 5% difference for low ACIR (e..g. ACIR is ranging from 5dB to 20dB). 

Observation 1: different noise figure will not have big impact on the average throughput loss of victim system, for 5% throughput loss, when operation frequency is 70GHz and 45GHz, there will be around 5% difference for low ACIR (e.g. ACIR is ranging from 5dB to 20dB). 

Simulation Case 1:  DL to DL, 30GHz
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Figure 1. simulation results of indoor hotspot scenario.
According to the simulation results shown in Figure 1, when ACIR is assumed to be at 20dB, the throughput loss of victim system can satisfy the legacy LTE requirements, namely average throughput loss and 5% throughput loss is both less than 5%.  
Proposal 1: it’s proposed to set ACIR as 20dB for simulation case1 to satisfy legacy LTE requirement. 

Simulation Case 4: UL to UL,30GHz
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Figure 2. simulation results of indoor hotspot scenario.

Similar as cases analyzed previously , when ACIR is assumed to be at 15 or 20dB, the throughput loss of victim system can satisfy the legacy LTE requirements, namely average throughput loss and 5% throughput loss is both less than 5%.  

Proposal 2: it’s proposed to set ACIR as 15dB to 20dB for simulation case 4 to satisfy legacy LTE requirement. 

Simulation Case 7:  DL to DL, 70GHz
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Figure.3. Simulation results of indoor hotspot scenario.

Similar as cases analyzed previously, when ACIR is assumed to be at 20dB, the throughput loss of victim system can satisfy the legacy LTE requirements, namely average throughput loss and 5% throughput loss is both less than 5%.  

Proposal 3: it’s proposed to set ACIR as 20dB for simulation case 7 to satisfy legacy LTE requirement.
Simulation Case 9: UL to UL, 70GHz
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Figure 4. Simulation results of indoor hotspot scenario.

Similar as cases analyzed previously, when ACIR is assumed to be at 15dB, the throughput loss of victim system can satisfy the legacy LTE requirements, namely average throughput loss and 5% throughput loss is both less than 5%.  

Proposal 4: it’s proposed to set ACIR as 15dB for simulation case 9 to satisfy legacy LTE requirement. 
Simulation case : DL to DL, 45GHz 
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Figure 1. Calibration results of indoor hotspot scenario [45GHz DL to DL]

Similar as cases analyzed previously, when ACIR is assumed to be at 20dB, the throughput loss of victim system can satisfy the legacy LTE requirements, namely average throughput loss and 5% throughput loss is both less than 5%.  

Proposal 5: it’s proposed to set ACIR as 20dB for simulation case at 45GHz to satisfy legacy LTE requirement. 
Simulation case : UL to UL, 45GHz 
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Similar as cases analyzed previously, when ACIR is assumed to be at 20dB, the throughput loss of victim system can satisfy the legacy LTE requirements, namely average throughput loss and 5% throughput loss is both less than 5%.  
Proposal 6: it’s proposed to set ACIR as 20dB for simulation case at 45GHz to satisfy legacy LTE requirement. 
4. Conclusions
In this contribution, we shared some simulation results and initial observations:
Observation 1: different noise figure will not have big impact on the average throughput loss of victim system, for 5% throughput loss, when operation frequency is 70GHz and 45GHz, there will be around 5% difference for low ACIR (e.g. ACIR is ranging from 5dB to 20dB).
Proposal 1: it’s proposed to set ACIR as 20dB for simulation case1 to satisfy legacy LTE requirement.
Proposal 2: it’s proposed to set ACIR as 15dB to 20dB for simulation case 4 to satisfy legacy LTE requirement. 

Proposal 3: it’s proposed to set ACIR as 20dB for simulation case 7 to satisfy legacy LTE requirement.
Proposal 4: it’s proposed to set ACIR as 15dB for simulation case 9 to satisfy legacy LTE requirement. 
Proposal 5: it’s proposed to set ACIR as 20dB for simulation case at 45GHz to satisfy legacy LTE requirement. 
Proposal 6: it’s proposed to set ACIR as 20dB for simulation case at 45GHz to satisfy legacy LTE requirement.
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6. Annex
Indoor hotspot 
Single operator layout
	Parameters
	Values
	Remark

	Network layout
	50m x 120m, 12BSs
	 

	Inter-site distance
	20m
	 

	BS antenna height
	3 m
	ceiling

	UE location
	Outdoor/indoor
	Indoor
	 

	
	LOS/NLOS
	LOS and NLOS
	Specified in TR38.900

	
	UE antenna height
	1 m
	Specified in TR38.900

	UE distribution (horizontal)
	Uniform
	 

	Minimum BS - UE distance (2D)
	0 m
	 

	Channel model
	Indoor Office
	Specified in TR38.900

	Shadowing correlation
	NA
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Multi operators layout
	Parameters
	Values
	Remark

	Multi operator layout
	coordinated
	

	Minimum distance between BSs in different operator
	0 m
	


















































